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RTU #5¢ ¢
& BF8-bit FALd & B4-bit 22 L2 EZF AArle S o b4 D 64H

1

1 A4
0:  7,N,2for ASCII:10 bits (1 start bit +7 data bits +2 stop bit)
START STOP | STOP
0 1 2 3 4 5 6
BIT BIT BIT

1. 7,E21for ASCII:10 bits (1 start bit +7 data bits+1 Even bit+1 stop bit)

START EVEN | STOP
0 1 2 3 4 5 6
BIT PARITY | BIT

2. 7,0,1for ASCII:10 bits (1 start bit +7 data bits+1 Odd bit +1 stop bit)

START obD | STOP
0 1 2 3 4 5 6
BIT PARITY | BIT

3:  8N,2RTU :11 bits(1 start bit +8 data bits +2 stop bit)

START STOP | STOP
0 1 2 3 4 5 6 7
BIT BIT BIT

4. 8,1 RTU:11 bits (1 start bit +8 data bits +1 Even bit+1 stop bit)

START 0 1 2 3 4 5 6 7 EVEN STOP
BIT PARITY BIT

5. 80,1 RTU:11 bits (1 start bit +8 data bits+1 Odd bit +1 stop bit)

START ODD STOP
0 1 2 3 4 5 6 7
BIT PARITY BIT

2~ FRBHE(FTHEPAFE 16~ mEERES )

ASCIl #235%:
STX EodsF 7 (3AH)
ADR 1 A= L
ADR 0 8-bit =xt& 5 72 BASCI 7%
CMD 1 R
CMD 0 8-bit &2 ¢ 5 72 BASCIH B
DATA (n-1) TR F
------- nx8-bit T4l & 7 7 2n BASCIl 75
DATAOQ n<=25- % %50 ®ASCIl 75
LRC CHK 1 = AT
LRC CHK 0 8-bit H:imé 5 72 BASCI 75
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END 1 R G
END O END1= CR (0DH), ENDO= LF(0AH)
RTU #:5¢
START AZiE10 ms z_ # 1k PR
ADR W = hk  8-bit gk
CMD &4 8-bit &4
DATA (n-1) A A
....... nx8-bit 4L » n<=25
DATAO
CRC CHK Low CRC 1§ 18 :
CRC CHK High 16-bit # :xi d 2 B8-bit F ~ &
END AZiE10 ms z_ # 1k PR E
3-#HaB
(1) O3H: 3 P~ 47 Bk L5 i por ¥k
(2) 06H: & » 47 B8 Sdfc X L5 ¥k
(3) 08H: i 2 w P
(1) O3H : 3f P~ %47 Bk T 5¥k
A. PCrt v B. ¥4 Bw i :
D1. i 3 =4t (O~FEh) D1. i 3 =yt (O~FEh)
D2. # it /% (03h) D2. # it /4 (03h)
D3. %#®x T 5#(H)  (00h) D3 F# BYTE # (00~18h)
D4. %#B% 2. 48(L) (00~ADh) D5. % = %%} % 1(H) (0O~FFh)
D5. i 4 fic(H) (00h) D6. % 7 %% % 1(L) (0~FFh)
D6. L4 (L) (00~0Ch)
D7. CRCL (O~FFh) Dm-3. & = %-#p % n(H) (O~FFh)
D8. CRCH (O~FFh) Dm-2. % = %-#p % n(L) (O~FFh)
Dm-1. CRCL (0O~FFh)
Dm. CRCH (0O~FFh)
Xm=5+2*n
T Rz B AE B (01h) B ¥ 22 44(P85~P87) 3 2% ¥ 4k
T %639 1. 85 = 55h
D1 D2 D3 D4 D5 D6 D7 D8
01h 03h 00h 55h 00h 03h CRCL | CRCH
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Bk P85=0=00h
P86=2=02h
P87=12=0Ch
FHEr R

D1 D2 D3 D4 D5 D6 D7 D8 D9 D10 D11
01h 03h 06h 00h 00h 00h 02h 00h 0Ch | CRCL | CRCH

(2) O3H : B~ %47 B dpm Sk

A.PC e : B. ¥4 Bw i -

D1. i 3 i=ht (0~FEh) D1. i 3 i=ht (0~FEh)

D2. # il 4B (03h) D2. # i 7% (03h)

D3. % #1 kg1 %#c(H) (21h) D3. ik BYTE #& (2*n)h

D4. % #1B &1 $-¥c(L) (00~10h) D5. &+ %#icph % 1(H) (O~FFh)

D5. 3k 4 #(H) (00h) D6. &+ S#icph % 1(L) (O~FFh)

D6. R L #(L) (I~n)h |

D7. CRCL (O~FFh) | e,

D8. CRCH (0~FFh) Dm-3. %1 $#pr % n(H) (0~FFh)
Dm-2. &7 $#cp F n(L) (O~FFh)
Dm-1. CRCL (0~FFh)
Dm. CRCH (0~FFh)

@ n<12 Xm=5+2*n

2100h: 45 %75 (22 P934p IF); 2101h: i& & * A5 ;

2102h;§2j$ﬁ(001Hzx 2103h:5 4147  (0.01Hz);

2104h: # &1 T.i7(0.1A); 2105h: DC-BUSE /& (0.1V);

2106h: 5 1 T & (0.1V); 2107h: 5 feikdy £ B 47 B

2108h: #4258 i 3 fad oW Fl4RPE (L sec);  2109h:t #icid;

210Ah; # % r]g:(o 1); 210Bh: #i; 2147 5 x P90 £/ Low Word (0.01Hz)

210Ch: f 4147 % x P90 £/ High Word; 210Dh: %47 %8 & (0.1°C);

210Eh: PID w; #(0.01%); 210Fh: PID# £ i&(0.01%);

2110h: He =i 31 /9 ~ ¢ 2111h: Up 277 (0.1A);

2112h: V4p .75(0.1A); 2113h: Wip 7 77 (0.1A);

2114h: 47 B 48,

2101h: Bit15~Bit12% ¥ ;

Bit1l: 44y (1),

Bitl0: E iy £ o 3L & A & 4241(L);

Bit9: 1 #F 5 d 5t i3 %iﬁs? » (1),

Bit8: A4 d Ao 3131] ~ (1);

Bit7~Bit5: %% ;

Bit4~Bit0: Rev Fwd Jog Stop Run
4 3 2 1 O

2110h: Bit15~Bit8% ¥ ;

Bit7~Bit0: Relay Dol TB6 TB5 TB4 TB3 TB2 TB1

7 6 5 4 3 2 1 O
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I

g1 R

R s K RAR F(01h) 5 S S~ B AT IE - DCBUS B - i O R (2103h~2106h) 4 X &
T g
D1 D2 D3 D4 D5 D6 D7 D8
01h 03h 21h 03h 00h 04h CRCL CRCH
Bk ﬁ%l 21 4F % :60.00 Hz => 60.00*100=6000=1770h
# 41 £ 5.0 =>5.0*10=50=32h
DC-BUS 7 /&:310.0V =>310.0*10=3100=0C1Ch
#i; o) T &:220.0 V =>220.0*10=2200=0898h
FHEYR
D1 D2 D3 D4 D5 D6 D7 D8 D9 | D10 | D11 | D12 D13
0lh | 03h | 08h | 17h | 70h | 00h | 32h | OCh | 1Ch | 08h | 98h | CRCL | CRCH
(3) 06H : B » %47 =8 Sdic
A.PC e : B. ¥4 Bw g ¢
D1. i 3 >kt (O0~FFh) D1. i 3 >kt (O~FFh)
D2. # & 55 (06h) D2. # & 55 (06h)
D3. % #1 & & £ #c(H) (20h) D3. % # 1% 18 §& % #c(H) (20h)
D4. % #1318 & - #c(L) (o0h) D4. % #1F1F ##& 3 #c(L) (o0h)
D5. & » S#p 7 (H) D5. & » Sdkp 7 (H)
D6. B » %8P 7 (L) D6. B » S8k F (L)
D7.CRCL (O~FFh) D7. CRCL (O~FFh)
D8.CRCH (O~FFh) D8. CRCH (O~FFh)
2000h & #& % Hok T
Bit15~Bit8: %% ;
Bit7: E.F. ON;
Bit6: £ ¥R
Bit5,Bit4: 1 1::x%igw;
1 0:F &,
0O 1:r i,
O O0:sm=#in;
b5 b4
Bit3,Bit2: # ¥ ;
Bit1,Bit0: 1 1 : - &8 #;
1 0::3#,;
0 1: i,
O O0:sam=#iu;
bl b
T M e £ SAE B (01h) ~+ #+ I (0000 0000 0001 0011b = 0013h)
T Y B
D1 D2 D3 D4 D5 D6 D7 D8
01h 06h 20h 00h 00h 13h CRCL CRCH
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=

R EY R
D1 D2 D3 D4 D5 D6 D7 D8
01h 06h 20h 00h 00h 13h CRCL CRCH
(4) 06H : B » S4F S d
Pcw:v*: REEF R
D1. i 3 =t (0~FFh) D1. i 3 i=ht (0~FFh)
D2. # it &% (06h) D2. # it 7% (06h)
D3. % #B % T 4¥kc (00h) D3. % #B % T 4¥kc (00h)
D4. ¥ #B® T 4¥k (0~ADh) D4. % #iB K T $Hc (0~ADh)
D5. B » %8P 7 (H) (0~FFh) D5. B » %#p 7 (H) (0~FFh)
D6. & » Fdp 7 (L) (0~FFh) D6. & » 8P 7 (L) (0~FFh)
D7. CRCL (0~FFh) D7. CRCL (0~FFh)
D8. CRCH (0~FFh) D8. CRCH (0~FFh)
a8~ (O1h) %4F B2k % 48k P28( % — F#E % ):50.00HZ
T Hazd B
D1 D2 D3 D4 D5 D6 D7 D8
01h 06h 00h 1Ch 13h 88h CRCL CRCH
50.00*100=5000=1388h(- = &)
FHET R
D1 D2 D3 D4 D5 D6 D7 D8
01h 06h 00h 1Ch 13h 88h CRCL CRCH
(5) O8H : i g 1§ i
A.PC v e B. R FW & :
D1: i 20 {=Ht (01~FEh) D1: i i=ht (01~FEh)
D2: # i 75 (08h) D2: # i 7§ (08h)
D3: BIEFTHM F(1) (00~FFh) D3: BIFEFTHPM % (1) (00~FFh)
D4: BIRREFTHM F(2) (00~FFh) D4: BIFFTHPM % (2) (00~FFh)
D5: BIFEFHM F(3) (00~FFh) D5: BIFFHP % (3) (00~FFh)
D6: BIFEF N % (4) (00~FFh) D6: BIFEF P % (4) (00~FFh)
D7: CRCL D7: CRCL
D8: CRCH D8: CRCH
T MiB3E(01h) 4E B e B 0 RIZE F 4 33h,56h,0Ah,BBh

T Fazd B
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D1 D2 D3 D4 D5 D6 D7 D8

01h 08h 33h 56h 0Ah BBh CRCL CRCH
RIEEY R

D1 D2 D3 D4 D5 D6 D7 D8

01h 08h 33h 56h 0Ah BBh CRCL CRCH

CHK (check sum : i zZi8 )

ASCIl fi5¢ ¢

ASCIl #-5% # * LRC (Longitudinal Redundancy Check) ¢ 3%iE o LRC 1 315 7 ¥ _#-ADR1 I & {5 —
FTARN FAck > B2 B %0256 F HixoAgdz e 3 f(m 4@ P2 2% 2 L 2 212 128H R
FB28H)» RS E D S F A ER 2% T ELIRC BRE -

Glde t A0k 5 01H 20 2 i B iE SR d B e0401H mhkiE P11 B F o AoBlFigl o
01H+03H+04H+01H+00H+01H=0AH, OAH &= =X & 4 % F6H °

STX -
ADR 1 0
ADR 0 T
CMD 1 0
CMD 0 3
ERERE |0
;0! ] |J||-|'I..:|_-f~'
T ADR 0H
ZTaT 0 CVD 03H
8 EEE T R 21H
= 02n
[RC CHK 1 = FERHL ggﬂ
LRC CHK 0 B (UL word &1 57)
END 0 °F CRC CHK High | F7H
Figl Fig2

RTU #i5¢
RTU #i£5%$ * CRC (Cyclical Redundancy Check) i§ 3% & » CRC 1 3%-iE 12 F 7| - & ¢
1~ CRC = OFFFFH
2+ CRC=(CRC)XOR(D1)
3  H|¥TCRC#bit0 2.7 5 1
£_: CRC = ( CRC >>1 )XOR ( 0A0O1H )
% ¢ CRC=CRC>>1
TIi>E T ML B0
4 REFHB3 S THIZERFE N )
5+ frTEFHD2
6~ E RN 2v4
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7~ iﬁﬁ$56 7

4 =
TR R

Blde o a5 01H 2 2R 5 i SRd B
Kol FaF

pI—LCRC %ﬁr ﬁ’\f@F
4oFig2 97T e

R

H12102H a3 B2 B3 > KADR X

TR B -
76FH E]J-*\ FV"

M A 4o T A > B BFH HF7HZ % g%

60



